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Given: QRST is a parallelogram, X is the midpoint of Q5

February 11, 2014

Prove: Diagonals bisect each other in a parallelogram T

Statement

Reason

QRST is a parallelogram, X
is the midpoint of QS

Given

QT//SR

Opposite sides of a
parallelogram are parallel

QX = 5X Definition of a Midpoint
LQTX = LSRX AlA

£LTQX = LRSX AlA

AQTX = ASRX AAS

TX =RX CPCTC

X is the midpoint of RT

Definition of a Midpoint

~.Diagonals bisect each

other

Definition of a Bisector
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20.

two-column

Given: ABCH and DCGF are
parallelograms.
Prove: ZA = ZF
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Given: OWXYZ
Prove: AWXZ = AYZX
(Theorem 6.8)
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Given: ABCD is a rectangle.
Prove: AADC = ABCD

23. Given: WATV and ZYVT are

parallelograms.
Prove: WX =ZY

28. two-column

Given: JPQRS
Prove: P =RS, QR = S5F
(Theorem 6.3)

8 Hint: CPCTC R

24, Given: OBDHA,CA = CG
Prove: ZBDH = £G

A

G D c
Hint: Isosceles Triangle
29, paragraph
Given: JACDE is a parallelogra
Prove: EC bisects AD.

(Theorem 6.7)
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